
https://www.youtube.com/watch?v=VoVPQU360Tg – START at 2 minutes 

1. Match the children’s statements to the approximate amount of money each child has saved. 

(Hint: round to the nearest full pound) 

  

 

2. Estimate the answer to the calculation below. 

 

Round each number to the nearest 1,000. What is the approximate answer? 
Round to the nearest 10,000. What is the approximate answer? 
What is the difference between your 2 answers.  
Which was the easiest to estimate? 
Is there are better way to estimate this question? 
 

3. Use the numnbers to complete the sentences. 

You will need to spend time trying out different options for this question, until you find the best fit. 

 

 

  

 

Can you explain why Dora’s method works? 

Can you think of another example where this method would work? 

 

 

https://www.youtube.com/watch?v=VoVPQU360Tg


ANSWERS 

1. A: 6,678 and 8,100; B: 2,967 and 12,000 or 12,000 and 2,967; C: 29,812 and 11,585  

2. Accept an appropriate estimate. 5,000 + 23,000 = 28,000 10,000 + 20,000 = 30,000 

The difference between the two answers is 2,000 

The first is the more accurate. 

I would try rounding  to the nearest 500 -> 5,500 + 22, 500 = 28, 000 

3. 1B, 2A, 3C  

 

 

 

 


